
深圳市同一模型科技有限公司 
Shenzhen T-ONE models technology co.,Ltd.  



1、Nose assembly

2、Canard assembly

cover 

clamp screw 

1 

3 

4 

4mm inch wrench 

2 



3、Canopy assembly

4、Air brake assembly

1 2 3 

4 5 6 

4*8mm metric screw 

2*18mm metric screw 1 2 3 

4 5 6 

7 

canopy lock cylinder 

3*10mm tapping 

2*35mm cylinder 



5、Fuselage connection

6、Main wing servos,surface and cover assembly

4*12mm metric screw 

1 2 

4*12mm metric screw 

the hinge is bonded the hinge is bonded 
with epoxy 

1 2 3 

2*6mm metric screw 
lock 

2*6mm metric 
screw lock 

bonding with epoxy 

7 bonding with epoxy 

two wooden 
pads 

a wooden pad 

Aileron servos Flap servos L type servo support 

4 5 6 

a wooden pad 

two wooden 
pads 



7、Main wings assembly

8、Nose gear doors cylinder assembly

9、Installation of nose landing gear

1 2 3 

2*25mm 
cylinder 

4mm inch wrench 

4*12mm 
metric screw 

3 fastening holes 

4*12mm 
metric screw 



10、Installation of main landing gear

11、main gear door cylinder assembly

2*30mm 
cylinder 

2*18mm  
metric screw 

1 

2*10mm  
metric screw 

2 3 

nut mounting bit 

4 
the cylinder is 

5 

3*20mm push rod 

 about 37mm 

2 3 

embedded 4mm 

3*20mm push rod 

3*10mm metric 

4 

5 

4*12mm 
metric screw 



12、Vertical assembly

13、tail pipe assembly

arm mounting 
position Lock the screws 

vertical lock screw 
mounting hole 4*12mm metric 

4*12mm metric 

1 2 3 

4 5 6 

tail pipe locating plate align screw 
3*10mm 

tapping screw 

Pay attention to 
rocker position 

Nozzel assembly 

3*10mm 
tapping screw 

Nozzel fixation Nozzel assembly 



14、Installation of navigation lights



15、CG position

15、Surface parameters

CG

Surface parameter

± 30mm

20mm，40mm

鸭翼 ± 20 ～ 25mm

± 30mm

330mm

Item

Aileron

Flap

Canard

Rudder

The center of gravity is at 330mm from the 
leading edge of the wing 














